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Which country will host the 2036 Olympics, as

per recent IOC discussions?

(A) India

(B) China

(C) Germany

(D) South Korea

What is the theme of World Environment Day
20257

(A) Beat Plastic Pollution

(B) Restore Our Earth

(C) Land Restoration, Desertification &

Drought Resilience

(D) Climate Action Now

Who is the current Chief Justice of India (CJI)?
(A) N.V.Ramana

(B) D.Y.Chandrachud

(C) Ranjan Gogoi

(D) U.U. Lalit

A shopkeeper buys an iterﬁ for Rs. 600 and
sellsit for Rs. 750. What is his profit percentage?
(A) 20%

B) 22.5%

(©) 25%

D) 30%
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What percentage of 250 is 75?

(A) 25%

(B) 20%

(C) 35%

(D) 30%

A train covers 180 km in 3 hours. What is its
average speed?

(A) 50km/h

(B) 80km/h

(C) 70km/h

(D) 60km/h

Find the next letter: D, F, H, J, ....... ?

(A) L

® M

(©) K

O) N

Aisthe son of B. Cis B's sister. D is B's mother.

E is D's husband. F is E's son. How is F related

to C?

(A) Nephew
(B) Brother
(C) Uncle

(D) Cousin
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9.

10.

11.

12.

There are 5 floors in a building. P lives above Q
but below R. S lives below Q. T lives at the

top. Who lives on the first floor?

(A) S

®) Q

(C) R

D) P

Pointing to a man, Rina says, "He is the son

of my father’s daughter." Who is the man to
Rina?

(A) Cousin

(B) Nephew

(C) Brother

(D) Uncle

Who became the first female commander in the
Indian Navy to command a warship in 2024?
(A) Prerna Deosthalee

(B) Preeti Singh

(C) Shaliza Dhami

(D) Sharvani Mishra

Which state launched the Mukhyamantri Gramin
Awas Yojana 2.0 in 20257

(A) Madhya Pradesh

(B) Bihar

(C) Uttar Pradesh

(D) Jharkhand
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13. Select the synonym of "Abandon" : 13. Selectthe synonym of "Abandon" :
(A) Leave (A) Leave
(B) Catch (B) Catch
(C) Decorate (C) Decorate
(D) Prepare (D) Prepare
14. Select the antonym of "Ancient" : 14. Selectthe antonym of "Ancient" :
(A) Modemn (A) Modern
(B) O (B) OId
(C) Antique (C) Antique
(D) Past (D) Past
15. Choose the correct preposition : 15. Choose the correct preposition :
Sheisgood  mathematics. Sheisgood  mathematics.
(A) n (A) n
(B) of (B) of
(©) at (C) at
(D) for (D) for
16. ‘5@ F q@iarEt o= O 87 16. ‘G@ N wEEarE 9= @ 87
(A) &B°T (A) ®v
(B) I (B) &M
(C) =t (C) =
(D) 3Jeqa (D) I&d
17. ‘e @ foeim = @@ 87 17. ‘S & fadm e @ 87
(A) ffesa (A) Fiwa
B) Fr= (B) frm
(C) vt (C) werw
(D) T (D) I
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18. FF o W & & &7

19.

20.

f:

A) 4
B) 5
©) 6

D) 7

Windows is which type of software?
(A) Application Software

(B) Utility Software

(C) Operating System

(D) Compiler

A computer virus is a type of:
(A) Hardware

(B) Software

(C) Memory

(D) Network

Which part of the CPU performs calculations?
(A) Control Unit

(B) Memory

(C) ALU

(D) CU
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22,

Z3.

24,

23,

What is the full form of UPS?

(A) Unplugged Power Supply
(B) Uninterrupted Power Supply
(C) Universal Power System

(D) Under Power Setup

Which feature checks spelling in MS Word?
(A) Word Count

(B) Spell Checker

(C) Thesaurus

(D) Grammar Fixer

Full form of HTTP is:

(A) Hyper Text Transfer Program
(B) Hyper Text Transfer Protocol
(C) High Text Transfer Protocol

(D) Hyper Transfer Text Protocol

Full form of ASCll is:

(A) .American Standard Code for Information

Interchange

(B) American Standard Communication for

Internet Interface

(C) Automatic Standard Code for Internal
Interface

(D) Advanced System Communication

Interlink
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26. Which tissue acts as first line of protection

27.

28.

29,

for body from any physical or chemical

damage?

(A) Adiposetissue -

(B) Musculartissue

(C) Areolartissue

(D) Epithelial tissue

In what form is the energy derived from the food
that we eat it is stored in our body?

(A) Maltose

(B) Glucose

(C) Glycogen

(D) Starch

Who is considered the father of genetics?

(A) Charles Darwin

(B) Gregor Johann Mendel

(C) Watson and Crick

(D) Jean-Baptiste Lamarck

The two important features of sexual

reproduction in higher organisms that create

genetic diversity in offspringare .
(A) Mitosis and Fertilization

(B) Mitosis and Binary fission

(C) Meiosisand Fertilization

(D) Meiosis and Conjugation
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30.

3L

32.

33.
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Where are the loops of Henle found?

(A) Cortex

(B) Medula

(C) Pelvis

(D) Ureter

Which of the following statement is not true
about Linnaeus system of classification?

(A) Linnaeus system is based on a hierarchical
structure.

(B) Linnaeus system uses binomial
nomenclature to name species.

(C) Linnaeus grouped together organisms that
shared obvious physical traits such as
number of legs or shape of leaves.

(D) Linnaeus system of classification is based
on the theory of evolution and consideres
the evolutionary relationships among
organisms.

In which part of the respiratory system does
exchange of gases take place?

(A) Larynx

(B) Bronchi

(C) Alveoli

(D) Trachea

Which one of the following is not included under
in-situ conservation?

(A) Zoological garden

(B) Wildlife sanctuary

(C) National Park

~ (D) Biospherereserve

[10]

30.

31.

32.

33,

A U Fel U AR 87
(A) Feaq

B) g

(C) Ufcaw

(D) wFafesdt

forfaiad § @ @ @1 wue ffag 3 Fie
Tl % aR 7 o TE 27

(A) fafma & yomell GarghEie w3 W
a2

(B) feiforaa =t qoTelt werferdt & AR & o
FEUEATHERIOT 1 IUENT & 8l

(C) forfram = TR Sl & v wr wgeepd
o e i @R e 9, 9 W
e a1 uREl & ST

(D) ot @t Fiteter yoneht e & foer
W AERg ¢ X ot & 9 erast
Tl W fER S 8

9o o & 59 9 ¥ A9 & aEE-veE S
27

(A) @&

B) e

(C) et

(D) ATt

Frafaia # & $F-a1 -Hig, @ & e
g & 27

(A) wmoft g

(B) aeild AR

(C) TS &M

(D) TERHER o

Contd...



34.

35

36.

s

38.

Vaccines are produced from immune
(A) Vitamins

(B) Blood

(C) Serum

(D) Plasma

The antigen binding sites on an antibody is called

(A) Antitope
(B) Epitone
(C) Paratope

(D) Endotope

The most popularly and widely used engineered
vector is

(A) PBR322

(B) P*vector

(C) Psvector

(D) P*19

Wildlife Protection Act was formed in the
year

(A) 1972

(B) 1970

(©) 1971

(D) 1973

Sundarban is famous for
(A) Lion

(B) Onehorned rhino
(C) Hollock gibbon

(D) Royal Bengal Tiger
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39.

40.

41.

42.

Prokaryotic DNA is typically :

(A) Linearand found in the nucleus

(B) Circular and found in the cytoplasm

(C) Linearand found in the cytoplasm

(D) Circular and found in the nucleus

Which organelle is responsible for cellular
respiration?

(A) Golgiapparatus

(B) Mitochondria

(C) Ribosome

(D) Endoplasmic reticulum

What is the process by which cells take in large
particles from their environment?

(A) Exocytosis

(B) Osmosis

(C) Endocytosis

(D) Diffusion

Which phase of the cell cycle is characterized
of DNA replication?

(A) G1 Phase

(B) S Phase

(C) G2Phase

(D) M Phase
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[12]

39,

40.

41.

42.

MRS o amrEd:

(A) Y AT TREE & qEr S 2

(B) @R AR HfvEEA # A S 8
(C) Yew I AREa § qr@T @ 2
(D) MerER X it § a@r S 2

PR a8 & /A @ @ 3T e 27

(A) Tl IwHTT

(B) T

(C) EsE™

(D)t e

& vt 1 & Fores g SR 19 awwEe
& 92 F° F T HQH of

(A) THRERARE

(B) TETT

(C) temmaAfE

(D) ferer

e @6 3 fpw =wor 9t g See wfeia
27

(A) Gl =™

B) S =

(C) G2 =@

D) M=

Contd...



43,

44,

45.

46.
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The Handerson-Hasselbalch equation is used

to calculate

(A) The pH ofa strong acid solution

(B) The pH ofa strong base solution

(C) The pH ofa buffer solution

(D) The PKa of aweak acid

Which of the following is a key principle of
Mendelian inheritance?

(A) Traits are determined by a single gene with
multiple alleles

(B) Traits are determined by multiple genes

(C) Traits are determined by a single gene with
two alleles, one dominant and one recessive

(D) Traits are determined by the environment
A cross between a homozygous dominant

parent and a homozygous recessive will always

result in
(A) 100% homozygous dominant offspring
(B) 100% heterozygous offspring

(C) 50% homozygous dominant and 50%
homozygous recessive offspring

(D) 75% homozygous and 25% homozygous
recessive offspring

Haemophilia is an example of which type of

inheritance pattern?

(A) Autosomal dominant

(B) Autosomal recessive

(C) X-linked recessive

(D) Codominant
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47.

48.

49,

50.
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Which of the following statement is true about a
food web?

(A) A food web isasingle, linear path of energy
flow

(B) A food web consists of many overlapping
food chains

(C) A food web only includes producers and

consumers
(D) A food web is only found in aquatic

ecosystem

What is the approximate percentage of energy
transferred from one tropic level to the next in

an energy pyramid?

A) 1%

B) 50%

(©) 10%

(D) 100%

What is the main basis of classification in the
Five Kingdom System?

(A) Cellstructure, mode of nutrition and body
organisation

(B) Cellsize and shape
(C) Number of chromosomes

(D) Habitat and locomotion

What does MCTD stand for?

(A) Multiple connective tissue diagnosis
(B) Mixed conjunctiva tissue disease
(C) Multiple connective tissue damage

(D) Mixed connective tissue disease

47.
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